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Analytical Methods in Engineering (EE300) Major -1

1)Given the following matrices, calculate
a)A+B, b)B-10A, c)A+B”,d)B"-A”

17 10 70
A= =
3 6 30 60

2)Calculate AB, if A and B matrices are as
follows

a
1 B=

3
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3)Find values of p and g such that the
following vectors x,y, z are linearly
dependent.

2 0 6
U= (SIS IS S = B
3 1 q

4)Try to bring the following matrices into
upper triangular form.

L2034
i 2
St /0 1
A= e e g S
2 ()
25
eS8 S5)

S)Calculate determinant of the following
matrices.

1 2f e 3 0 0 O

e salicla=0 5 2 4 6
A= 5 B:
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4 12 8 =5 DU ORE

6)Examine the following linear equations
x+2y=3, 2xty=4, 3xt+t5y=q

a)Determine ¢ such that this system has

unique solution.

b)Determine ¢ such that this system has no

solution. '
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7)Examine the following homogenous system
x+y+z=0, x+2y+3z=0, x+3y+5z=0

a)Does this system have a nontrivial

solution,

b)Calculate the solution space for this system

8)The following matrix is given
ase Ny

A=|b y q
G Zee ot

It is known that det(A)=AA=20

Calculate the determinant of the following
matrices.

b y q 106 10y 10q
b SiaEsr s R (=i x ¥

CLSZiolT, & z r
10a 10x 10p 9a 9x 9p
D=|b ¥y g R = MDY RS
c z r OCHR) ZER I T,
a x p
F=|b y q

a+10b+c x+10y+z p+10g+r

9)A and B matrices are as follows

1 0 0 1 0 0
A=|4 0 1|, B=|x 0 1|,
6 1 0 vl

It is known that A~' = B. Calculate x and y.

10)Calculate the inverse of the following
matrices.

2 3 45
A={0 2 8
0 0 1
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